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Time : 2 hours

The figures in the margin indicate fiM marks
for the questions

1. Answer the following as directed ; 1*4=4

(a) Which of the following is true about an
inductive argument?

^551® R«(c<iw c'pHctoi

T$J?

(i) If the premises are true, the '
conclusion must be true.

I

(ii) It is possible for the premises to be
true and the conclusion false.

(iii) The conclusion follows necessarily
♦from the premises. ,

^5ng?r «rt

I
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(iv) The conclusion is certain.

( Choose the correct answer )

( )

(b) Give the obverse form of the following
proposition :

"Some students are players."

^  l"

(c) Give an example of mediate inference.

Rjl I

(d) Which of the following is true?
v®fli*a c^wcvi •nvoj ?

(i) Categorical syllogism is a mixed
syllogism.

ul<i <4^ Pld I

(ii) Dilemma is a pure syllogism.

tRcst «i(*ld •URf I

(iii) Disjunctive-categorical syllogism is
a pure syllogism.

rRs 'RiRf I

(iv) None of the above

( Choose the correct answer )
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2. Answer the following questions : 2x3=6

(a) What is an argument?

(b) State any two rules of conversion.
C<pl<.ll I

(c) What is enthymeme? Give an example of
this type of syllogism. 1+1=2

^ <?ri25!?

TyRR Rill I

3. Write short notes on any two of the
following : 5x2=10
vs«iv© Riiic^tH^ R<lCi( ̂  cul^l ̂ TfT :

(a) Distinction between deductive and
inductive arguments

(b) Conversion by negation

(c) Sorites

(d) Fallacy of relevance
2ll''1'\Rl<P^I'8tR*S VSxfcTiil ̂

4. Answer any three of the fbllowing : 10x3=30
vsiv© R?fRRPR C"?i<.»ll R>Pii>l 2RR Rill :

(a) What is simple conversion? Can 'A'
proposition be converted simply?
Explain. 2+8=10
T}^ 'A' 3R»r

fto? ̂URIT^ I
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(b) What is hypothetical-categorical
syllogism? Explain its different forms
with suitable examples. 2+8=10

^  2PFH siJRR

(c) What is disjtuictive-categorical
syllogism? How do you test the validity
of this kind of syllogism? E3q>lain. 2+8=10

'jiBi 1^?

^  a%FI ̂5|^?'WPIJf ̂  I
(d) What do you mean by inductive fallacy?

Explain any two types of this fallacy
with suitable examples. 2+4+4=10

<4siwr ̂  a^m <iiOT
4114114^ I

(e) What do you mean by fallacy of
ambiguity? Explain any two types of
this fallacy with swtable examples.

2+4+4=10

^5^WI4 41 ̂51^441% 1%
(?FI(?n ̂  44144 ^44f%4 1^4C4 ̂ 4f5

^414444^4114114411

(f) What is dilemma? Explain the method
of testing the formal validity of a
dilemma. 2+8=10

•fllHllil 41C4 1%? fl5HjW4 ̂ 51141444 ̂ 44511^5144
44fi^4Il4I1441 I
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